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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.

Then mark the answer on your answer sheet.

1-  Despite the fact that Gross Domestic Product (GDP) has increased substantially in the
industrialized West, the levels of human contentment have remained ---------- .

1) apposite 2) interwoven 3) static 4) implicit

2-  Immigration ---------- from the Latin word migration and means the act of a foreigner
entering a country in the aim of obtaining the right of permanent residence.
1) gathers 2) obtains 3) arises 4) derives

3- Not speaking the same language as your customers can lead to communication ---------- 5
1) breakdown 2) brevity 3) gesture 4) imitation

4-  The factory’s workforce has ---------- from over 4,000 to a few hundred.
1) withdrawn 2) dwindled 3) undercut 4) forecasted

5-  The police came up empty-handed despite an ---------- exploration of the suspect’s home.
1) exhaustive 2) inescapable 3) ephemeral 4) inevitable

6- When the old man married a woman in her thirties, all everyone talked about was the
---------- in the couple’s ages.

1) diversity 2) disparity 3) longevity 4) extension
7-  One local factory will ---------- the town’s job shortage by providing 250 more jobs.
1) overlook 2) adjust 3) displace 4) alleviate

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

One commentator argues that the success of private schools is not in their money,
(8) ~==mmmmmm- their organization. State schools fail their pupils because, under government
control, they lack options. But if head teachers at state schools (9) --------- given the
same freedom as those at private schools, namely (10) ---------- poor teachers and pay
more to good ones, parents would not need to send their children to private schools any
more.

8- 1)thatis 2)itisin 3) but in 4)is
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9- 1)had 2) were 3)to be 4) be
10- 1) by sacking 2) sacking 3) sacked 4) to sack

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1I:

The most important factor producing wetlands is hydrology, or flooding. The duration of
flooding or prolonged soil saturation by groundwater determines whether the resulting
wetland has aquatic, marsh or swamp vegetation. Other important factors include soil
fertility, natural disturbance, competition, herbivory, burial, and salinity. When peat from
dead plants accumulates, bogs and fens develop.

Wetland hydrology is associated with the spatial and temporal dispersion, flow, and
physio-chemical attributes of surface and ground waters. Sources of hydrological flows
into wetlands are predominantly precipitation, surface water (saltwater or freshwater), and
groundwater. Water flows out of wetlands by evapotranspiration, surface flows and tides,
and subsurface water outflow. Hydrodynamics (the movement of water through and from
a wetland) affects hydro-periods (temporal fluctuations in water levels) by controlling the
water balance and water storage within a wetland.

Water chemistry within wetlands is determined by the pH, salinity, nutrients,
conductivity, soil composition, hardness, and the sources of water. Water chemistry varies
across landscapes and climatic regions. Wetlands are generally minerotrophic (waters
contain dissolved materials from soils) with the exception of ombrotrophic bogs that are
fed only by water from precipitation. Because bogs receive most of their water from the
atmosphere, their water usually has low mineral ionic composition.

11- It's referred in the passage that hydrology ---------- .
1) determines the kind of produced wetland
2) prolongs the degree of saturation of soil
3) forms when peat from dead plants accumulates
4) is considered to be the driving force in wetland formation
12- All of the following, according to the passage, influence the hydrology of a wetland

EXCEPT -----mmmv :
1) ground-water level 2) soil permeability
3) type of vegetation 4) salt content in the soil

13- Temporal fluctuations in water levels ---------- .
1) are under the influence of hydrodynamics
2) affect the movement of water through and from a wetland
3) restrict surface flows and tides, and subsurface water outflow
4) improve the water balance and water storage within a wetland
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14- According to the passage more wetlands ---------- .
1) receive only atmospheric inputs
2) have low mineral ionic composition
3) receive water mostly from ground-water
4) have low concentration of dissolved nutrients
15- The writer of this passage wants to ---------- .
1) compare 2) clarify 3) emphasize 4) narrate

PASSAGE 2:

Building up soil carbon can help cut greenhouse gas concentrations in the air. It also
improves soil quality in many ways: It gives soil structure, stores water and nutrients that
plants need and feeds vital soil organisms.

But carbon in soil doesn’t exist on its own. It is combined with oxygen, hydrogen,
nitrogen and other elements, in compounds that scientists collectively call soil organic
matter. This material is amazingly complex stuff, made of thousands of different chemical
compounds that remain from the decomposition and transformation of plants, animals and
microorganisms.

Adding to this complexity, carbon can be found in different physical states within soil.
It can be dissolved in water, present as larger chunks or “particulates,” enveloped by soil
particles or bonded to minerals. These various forms all behave differently, and ultimately
have very different impacts on plant growth, soil structure and carbon sequestration.

The challenge is how to conceptually divide up all of these different forms without
getting completely lost in the muck. The soil science community has been studying this
question for decades. One key distinction can provide an underlying framework for soil
carbon management is particulate organic matter versus mineral-associated organic
matter.

16- Carbon improves soil quality through all of the following EXCEPT ---------- .

1) aggregating soil particles 2) amplifying soil degradation

3) increasing water storage 4) increasing beneficial soil microbes
17- It's stated in the passage that carbon ---------- .

1) helps greenhouse gas concentrations in the air

2) can exist in soil as other elements such as oxygen

3) is primarily stored in the soil as soil organic matter

4) facilitates the combination of other elements in the soil
18- The various forms of carbon, based on information given in the passage, ---------- .

1) lessen their complexities in soil 2) improve soil in similar ways
3) form the best mixtures in soil 4) represent different behaviors
19- The word "conceptually' in paragraph 4 means ----------
1) directly 2) eventually 3) prlmarlly 4) theoretically

20- The best title for this passage is ----------
1) Soil Carbon is Amazingly Complex 2) Soil Carbon Has Different Forms
3) The Challenges for Soil Carbon 4) The Benetfits of Soil Carbon
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PASSAGE 3:

Soil and soil formation can be considered from many standpoints, including from the
study of soil science as a field in its own right. However, soil is most important in
ecological function as the basis for the growth of terrestrial plants, including supplying
nutrients, water, temperature moderation, and support. Soil also provides important
functions as a pool of carbon that can either act as a source or sink for atmospheric carbon
dioxide, a habitat for soil organisms, and a filtration system for surface and ground water.
Soil has often been considered a nonrenewable resource like coal or oil, and not a
renewable resource such as agriculture or forests. However, in many cases, soil is a slowly
renewable resource, and degraded soil can sometimes be restored to serve much of its
original ecological function, though restoration may take decades or longer.

A primary understanding of soil is achieved through the study of the soil profile,
interactions of soil material with organisms, and the movement of water through the soil
profile by leaching. An essential function of soil is the breakdown of organic material to
form soil humus and release nutrients that can be utilized by soil organisms and growing
plants. Soil is also an important reservoir of the Earth’s biodiversity, containing higher
species and functional biodiversity than any other portion of terrestrial ecosystems.

21- It's stated in the passage that soil is ---------- .
1) a sink altering atmospheric carbon dioxide
2) a main science including some academic fields
3) the base for plants growing on, in, or from land
4) the mix of functions that happen each day in our ecology
22- Soil, according to the passage, ----------
1) is a source usually not capable of bemg replemshed
2) has the essential part in degradation of organisms
3) constitutes a profile by leaching process
4) causes coal and oil to be renewed
23- Soil restoration, as mentioned in the passage, ---------- .
1) is a time-consuming process
2) is a common recurring phenomenon
3) slows down its original ecological functions
4) happens solely in forests and agricultural lands
24- The word '"'release' in paragraph 2 can be replaced by ---------- .

1) balance 2) grow 3) provide 4) transfer
25- The writer's tone in this passage is ---------- .
1) argumentative 2) approving 3) demanding 4) factual
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